Agilent E3663AC

System |l Rail Kit

E7590A—1.3 m rack
E3661B—1.6 m rack
E3662B—2.0 m rack

Installation Note

E0207 February 2007
© Copyright 1993, 2002, 2007 Agilent Technologies, Inc.

3 AgilentTechnologies MR AT MIDIA

E3663-90001



Errata

Agilent References in this manual

NOTICE: This document contains references to Agilent Technologies. Agilent’s former Test and Measurement
business has become Keysight Technologies. For more information, go to:

www.keysight.com
About this manual

We've added this manual to the Keysight website in an effort to help you support your product. This manual
provides the best information we could find. It may be incomplete or contain dated information.

Support for your product

You can find information about technical and professional services, product support, and equipment repair and
service on the web:

www.keysight.com

Select your country from the drop-down menu at the top. Under Electronic Test and Measurement, click
on Services. The web page that appears next has contact information specific to your country.

For more detailed product information, go to: www.keysight.com/find/ <product model»

i.e., for the M9514A, use: www.keysight.com/find/M9514A

Hypertext links to documents on agilent.com are no longer active. Use this substitution to access PDF files:
Broken links have the form: http://cp.literature.agilent.com/litweb/pdf/< literature_part_number>
Substitute links with this form: http://literature.cdn.keysight.com/litweb/pdf/ < literature_part number>
Where </iterature_part_number> has the form: M9300-90001.pdf

For service notes, use: www.keysight.com/find/servicenotes

KEYSIGHT

TECHNOLOGIES


http://www.keysight.com/
http://www.keysight.com/
http://www.keysight.com/find/M9514A
http://www.keysight.com/find/servicenotes

Notice.

The information contained in this document is subject to change without notice.

Agilent Technologies makes no warranty of any kind with regard to this material, including but not limited
to, the implied warranties of merchantability and fitness for a particular purpose. Agilent shall not be liable
for errors contained herein or for incidental or consequential damages in connection with the fumlshmg.
performance, or use of this material.




System Ii Rail Kit

This Installation Note explains how 1o install the E3663—-System II Rail Kit. This kit allows
you to install additional equipment in the instrument rack.

Contents
The System II Rail Kit contains the following items.
item Quantity Description Part Number.
1 A 2 System II Rails ' E3663-00001
2 4 Tinncrman Nuts (10-32) 0590-0804
3 4 TORX Pan-head Screw, 10-32 x 0.5” 2680-0278
4 | Instruction Notes E3663-90001

Tools Needed

To install System II Rail Kit, you will nced the following tools:
T 25 TORX screwdriver (included with the E-serics rack)

Installation Procedure
Refer o the diagram of the System II Rail Assembly.

Note

.Make sure that the anti-tip tray is extended before moving
equipment in or out of the rack.

Note

This rail is suitable for mounting products designed to the
~ System Il instrument design specification.

System |l Rails




¢
. Rear

¢ Column

Mounting
Screw

Rail

Front
Column

o;‘::a t{?’b 0‘&0 [-)

o ——

ao
Or S

L]

e o e e e

Decide where in the rack the new equipment is to be installed.

Locate the rectangular mounting holes for the support rail,

Note: Every fifth mounting hole is notched.

Position the 4 Tin

lar mounting slots.

nerman

(10-32) nuts over the to round holes adjacent to the rectangu-

Slip the rail flanges into the rectangle mounting holes. The rail will stay in place.

Note

Although rails will sit on columns, always secure rails with

TORX screws prior to installing equipment

Make sure the Tinnerman nuts are aligned with the mounting holes in the rail

System Il Rails.



6. Insertand tighten the mounting screws {10-32) on both the front and rear vertical
columns. Repeat for the other rail.

7. Install the new piece of equipment. Slide it all the way into the rack, bezel flush with
the front of the columns, Secure to rack columns if necessary.

This completes installation of the System II Rail Kit. Refer to the documentation for your
equipment for cabling information. '

Place this Note with your rack documentation.

System Il Rails =




